Day 2 Homework

Determine the bearing for each of the following vectors. ®
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Answer the following Vector Application Problems.

4. An airplane is flying on a bearing of 335° at 530 mph. Find the component form of the
velocity of the airplane.
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a) Find the component form of the velocity of the airplane. < —1l.1 ‘0, 3 0S. L‘\'\[

b) Find the actual ground speed and direction of the plane.
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6. A basketball is shot at a 70° angle with the horizontal direction with an initial speed of 10
m/sec. ' \

a) Find the component form of the initial velocity.

b) Give an interpretation of the horizontal and vertical components of the velocity.
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